+

] PRUEBA DE ACCESO A LOS CICLOS

Gobierno Consejerfa de Educacién
Universidades, Cultura y Deportes FORMATIVOS DE GRADO SUPERIOR

deCanarias Resolucion de 17 de marzo de 2021

E;gigg{ggﬁ‘;nggﬁ‘c‘;ﬁiggfg‘e‘ﬁﬁtos (BOC N 62. Jueves 25 de marzo de 2021 — 1573)

PARTE ESPECIFICA NOMBRE
OPCION A
APELLIDOS
LENGUA EXTRANJERA:
INGLES DNI
N.° EXAMEN
CRITERIOS DE CALIFICACION INSTRUCCIONES
*  El cuestionario consta de 10 preguntas. * Salvo que se especifique lo contrario, cada cuestion tiene una
*  (Cada respuesta correcta se valorard con 1 punto. sola respuesta correcta.
e Las respuestas en blanco o incorrectas no puntian | * Rodee la letra de su respuesta con un circulo.
ni penalizan.

[CALIFICACI(')N:

Lee el texto y contesta a las preguntas que se te formulan a continuacion:

The Sustainable Development Goals

Climate changes are one of the world’s biggest challenges that we are facing today. Most of the
climate researchers agree on the fact that the climate is changing rapidly, as a result of human
activity.

The Sustainable Development Goals are the world’s work agenda which aims to end poverty,
protect the planet and ensure prosperity for all within 2030. The 17 sustainable development
goals (SDGs) to transform our world are: 1 no poverty, 2 zero hunger, 3 good health and well-
being, 4 quality education, 5 gender equality, 6 clean water and sanitation, 7 affordable and
clean energy, 8 decent work and economic growth, 9 industry, innovation and infrastructure, 10
reduced inequality, 11 sustainable cities and communities, 12 responsible consumption and
production, 13 climate action, 14 life below water, 15 life on land, 16 peace and justice strong
institutions and 17 partnerships to achieve the goals. The world leaders have decided to take
urgent action on climate change to limit global warming to less than two degrees Celsius,
compared from 1850 to 2100. This refers to the expression “2 degrees Celsius limit”. However,
in the Paris Agreement the world leaders have even pledged that they will try to limit the rise of
the average temperature to no more than 1,5 degrees.

To reach the goal of maximum 1,5 degrees, or worst case two degrees, every country, including
yours, must limit their greenhouse gas emissions. Every country must take actions locally,
nationally and globally to achieve the goal. How is your municipality plan to protect the
environment? Is it ambitious enough to contribute to a sustainable development in your local
community, in your country and globally? How is the plan affecting and influencing other areas
of the community, for example transportation, health services, education, etc.? We must be
aware that this is a common issue and that we should take part of it. Compromise is the only
way to turn the planet into a better place to live in the future.

pledge: comprometerse

*Source: The United Nations Association of Norway
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1. How many sustainable goals are there?
a) 16 and other measures.
b) 17 and other measures.
c) 17.

2. According to the text, what do researchers
think about climate?

a) They think that the climate is not
changing rapidly, as a result of human
activity.

b) They think that the climate is changing
rapidly, as a result of human activity.

c) They think that the climate won’t chan-

ge.

3. What are the aims of the Sustainable
Development Goals?
a) To end poverty, protect the planet and
ensure prosperity for all within 2030.
b) To increase global warming.
c) To increase the rise of the average tem-
perature.

4. What is the meaning of the expression “2
degrees Celsius limit”?
a) To limit global warming to less than two
degrees Celsius.
b) To increase global warming to more
than two degrees Celsius.
c) To increase global warming to more
than three degrees Celsius.

5. Every country must take actions...
a) Only globally to achieve the goal.
b) Locally, nationally and globally to
achieve the goal.
c) Locally better than globally.

6. To reach the goal of maximum 1,5 degrees,
every country must...
a) increase their greenhouse gas emissions.
b) limit their greenhouse gas emissions.
c) expand their greenhouse gas emissions.
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7. Choose the CORRECT question:
a) Has the world leaders decided to
take urgent action?
b) Have the world leaders decide to
take urgent action?
¢) Have the world leaders decided to
take urgent action?

8. Choose the CORRECT negative sen-
tence:
a) Every country don’t must take ac-

tions.

b) Every country must not take ac-
tions.

c) Every country doesn’t must take
actions.

9. Choose the CORRECT negative sen-
tence:

a) The Sustainable Development
Goals aren’t the world’s work
agenda.

b) The Sustainable Development
Goals isn’t the world’s work agen-
da.

c) The Sustainable Development
Goals doesn’t are the world’s work
agenda.

10. Choose the CORRECT question:
a) They will try to limit the rise of the
average temperature?
b) Will they try to limit the rise of the
average temperature?
¢) Do they will try to limit the rise of
the average temperature?
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	2. Dentro de los tipos de medioambiente que podemos encontrar en el planeta, ¿Cuál tiene la consideración de antrópico?
	3. ¿Qué capa de la atmósfera es responsable del efecto invernadero?
	a) Termosfera.
	10. El basalto forma parte, principalmente, de la composición química de la siguiente capa:
	a) Corteza continental.
	b) Corteza oceánica.
	c) Manto.
	d) Núcleo.
	11. Canarias es un archipiélago volcánico, este tipo de riesgo relacionado con la geodinámica interna del planeta se puede ver intensificado por:
	a) El tipo de erupción.
	b) El grado de desarrollo de la región donde se produce.
	c) La frecuencia de las erupciones.
	d) Todas las anteriores.
	12. Entre los problemas ambientales más frecuentes debidos a la explotación de recursos minerales NO se encuentra:
	a) El ascenso de la superficie del terreno.
	b) El almacenamiento de los residuos originados en las minas.
	c) Las vibraciones en viviendas e instalaciones cercanas debido al uso de explosivos.
	d) La contaminación de los recursos hídricos de la zona.
	13. La contaminación de los suelos está causada por:
	a) Prácticas agrarias erróneas.
	b) La lluvia ácida.
	c) El vertido de residuos tóxicos.
	d) Todas las anteriores.
	14. Los organismos encargados de captar la energía solar de los ecosistemas son los organismos:
	15. La forma más frecuente en las que las plantas asimilan el nitrógeno es:
	16. El azufre se incorpora a su ciclo biogeoquímico a través de:
	a) Las raíces de las plantas.
	b) La alimentación de los herbívoros.
	c) Los hongos que crecen en el suelo.
	d) Las bacterias que descomponen los cadáveres de los carnívoros.
	17. La autodepuración de aguas contaminadas es un mecanismo de autorregulación de los ecosistemas. ¿Cuál es el papel de las plantas acuáticas en este mecanismo?:
	a) Consumen materia orgánica.
	b) Asimilan determinadas sustancias como nutrientes.
	c) a y b son ciertas.
	d) Las plantas acuáticas no tienen ningún papel en este mecanismo.
	18. Las Islas Canarias tienen gran importancia como laboratorios de biodiversidad. El método más efectivo para minimizar los impactos causados por las especies invasoras es la prevención mediante:
	a) La educación ambiental y la sensibilización ciudadana.
	b) El control efectivo de puertos y aeropuertos.
	c) Desarrollo de medidas legales estrictas.
	d) Todas las respuestas son correctas.
	19. Un factor climático que interviene en la degradación del suelo en Canarias es:
	a) El régimen de vientos oceánicos.
	b) El alto índice de erosión de los suelos.
	c) La deforestación.
	d) El riego con aguas de alto contenido salino.
	20. ¿Cuál es la causa del empobrecimiento del suelo?
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